
  STUART 5A REVERSE GEAR PARTS LIST (included in kit) 
 
 ITEM No. PART No. DESCRIPTION MATERIAL SIZE QTY.

 10 60740 DRAG LINKS CAST IRON  2
 2 60737 ECCENTRIC SHEAVE CAST IRON  1
 8 60747 ANCHOR LINK MALL IRON  1
 13 60751 CONNECTING LINK MALL IRON  1
 11 60921 ECCENTRIC RODS CAST IRON  2
 7 60742 EXPANSION LINK CAST IRON  1

 4 24296 ECCENTRIC STRAP BOTTOMS GUNMETAL  1
 4 24297 ECCENTRIC STRAP TOPS GUNMETAL  1
 9 60749 REVERSING LEVER GUNMETAL  1
 14 24298 REVERSE SHAFT BRACKETS GUNMETAL  1
 14 24299 REVERSE SHAFT BRACKETS GUNMETAL  1

  STUART 5A REVERSE GEAR PARTS LIST (not included in kit) 

 3 MS010 ANCHOR LINK STUD & PINS MILD STEEL 3/16” Ø x 5 1/2” 1
 6 MS020 LOCKING LEVER HANDLE MILD STEEL 1/4” Ø x 4 “ 1
 1 MS035 REVERSING SHAFT MILD STEEL 5/16” Ø x 7” 1
 6 MS053 LOCKING LEVER BOSS MILD STEEL 1/2” Ø x 1 1/2“ 1
  MS140 FLYWHEEL KEY MILD STEEL 1/4”sq. x 3” 1
  MS170 DIE MILD STEEL 5/16” sq. x 1” 1
 12 MS180 VALVE ROD HEAD MILD STEEL 3/8” x 1/2  x 2 1/4” 1
 5 MS212 ANCHOR SCREW MILD STEEL 4 BA HEX x 1” 1

  22643 REVERSE SHAFT BRACKET STUDS MILD STEEL 4 BA x 1/2” 2

  71751 ANCHOR LINK STUD NUT MILD STEEL 2 BA full 1
  71752 ANCHOR LINK STUD NUT MILD STEEL 4 BA full 1
  71752 REV. SHAFT BRACKETS  NUTS MILD STEEL 4 BA full 2
  71752 VALVE ROD HEAD NUTS MILD STEEL 4 BA full 1
  71752 ECCENTRIC ROD NUTS MILD STEEL 4 BA full 2
  71752 ECCENTRIC STRAP NUTS MILD STEEL 4 BA full 2
  71761 ECCENTRIC STRAP NUTS MILD STEEL 4 BA half 2
  22863 VALVE ROD HEAD NUT MILD STEEL 1/4” BSF half 1
 
  71695 ECCENTRIC STRAP BOLTS MILD STEEL 4 BA x 1 1/8” 2
  71693 ECCENTRIC ROD BOLTS MILD STEEL 4 BA x 3/4” 2

  71670 ECCENTRIC ROD SET SCREWS MILD STEEL 4 BA x 3/8” 2
  71672 VALVE ROD HEAD SET SCREW MILD STEEL 4 BA x 5/8” 1

  23028 TAPER PINS MILD STEEL 3/32” Ø x 1” 6

STUART MODELS
Braye Road, Vale, Guernsey, Channel Islands, UK, GY3 5XA.
Tel: 01481 242041/249515 • Fax: 01481 247912 • www.stuartmodels.com


